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Instructions :

1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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(3&E I/Unit 1)
A de C++ H GaHEdE don 9 = ¥ ? 8

What are the similarities and differences between JAVA and C++ ?

Interfaces =1 & ? 8

What are Interfaces ?
(3IET/Or)

el ® “write once, run anywhere” WTST ® Wg I WMT Wl § 2?8

What Java is known as “write once, run anywhere” language ?

3 °R faftmi & AW 9asd qe A Sitsu S godeh Siel F Wl g1 8

Name and explain four methods every Java class will have.

(F&E I/Unit II)

=1 00OP wiRwfo vIsgraclt &t = HifST . 8

Explain the following OOP terminologies :
(@) Data Abstraction

(1) Inheritance.

iefmifesy 1 § ? Wendiesn fommondaa § #9 aAfygfg w=dt § 2 8

What is Polymorphism ? How does polymorphism promote extensibility ?
(TFat/Or)

e H Heedlud $Ried $Y W i Sl § 7 8

How multiple inheritance is achieved in Java ?

TH Ths pA T classA 9 &I FE B YREE ST | FOF H S gfscish B2
TS a T b T 991 Toh TsLHE AYE compute() B | I i @ —classB,
classC @ classD s pB, pC d= pD T, @ IRV HIGT | 3%
classA F! TIFE ¥ T compute() HFS H implement B | classB H a den
b % eth sum I TOAT AW, classCﬁ,maﬁﬂTbaﬁmaﬁﬁmﬁﬂT
classD # subtraction & qROMH %t TOMT ST | & Th a1 GO fafew St
J&® ad H call to the compute() ST TUFAT HLM| 8
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Define a class named classA in a package pA. This class will contain two
public data member a and b and an abstract method compute(). Now
define three classes named classB, classC and classD in packages pB, pC
and pD. Each of the class is a subclass of classA and will implement the
compute() method. In classB, it will compute eth sum of a and b, in
classC, compute the product of a and b and in classD, compute the result
of subtraction. Now write a Java program that will generate call to the

compute() method of each class.
(&g III/Unit III)

Vector @ Array H <R daEUI SHI & Y-8 asy | 8
What is the difference between a Vector and an Array ? Discuss the

advantages and disadvantages of both.

Early binding, late binding @1 dynamic binding (31 SEHHE Aus fedm)
FM Y ? 8
What is early binding, late binding and dynamic binding (or dynamic

method dispatch) ?

(31E1/Or)

TH @ Fwie Te fafeon St FEE ¥ e & ®9 H usifed (SRS ) Teed &

U TR qAl ot faeH Femel #1 summation I HINTI AR TS TH HOMHS

T %, q SIS IS THS H user-defined exception g1 T TMETI main() ATS
Eallrs exception F TedA HEAT =Y q91 error message fire =wifew) 16

Write a Java code segment that will take a sequence of positive integer

numbers as input from the keyboard and find the summation of the odd numbers

only. If the input is a negative number, your code segment should throw a user-

defined exception. The main() method should handle this exception and print

the error message.
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(F&®E IV/Unit IV)

TF T FE fohte &, FE § eAfugls ®E q91 TRIhE & R S
T <R dad| Hd YIE @ e ? 8
Discuss the differences between creating a new class, extending a class

and implementing an interface; and when each would be appropriate.

Serializable Interface =T & ? 8

What is Serializable Interface ?
(3IAT/Or)

Process a4 Threads ® &1 3= © ? 8

What is the difference between Process and Threads ?

I FAE & faftmt € 9% )1 threads &1 Akt T vl § 2 SA faftdi o
Eueicais 8

What are the fwo methods by which threads can be stopped ? Describe
these methods.

(&S V/Unit V)

Application @& Applet | <R AT | 8
Differentiate between Application and Applet.

Exception % T&R Tea foan s T 2 8

How an exception is handled ?
(3AUAT/Or)

Applet tag & fo=ea & & ¥ TE& constituents H AT HifST | 8
Given the syntax of Applet tag. Explain its constituents.

SUTH ST g’ HTML § applet add % & Hum (=xor) fafew 8
Write steps to add applet to HTML file, using suitable example.



